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COMPUTER SCIENCE
( General )
'( Fundamentals of Computer Science )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. (@) State True or False : 1x4=4 "
VT (7 R oL

(i) The binary system uses only two
digits O and 1. S

7S mfoe @a@ 0 WF 1 RAT I
o |

(i) A NOR gate and a bubbled AND gate
are equivalent. ‘

@5l NOR ¢35 W% «51 bubbled AND
¢o1B SRS |

(i) Flash memory is a secondary
storage device.

GF% (MR 2'F (M9 ©2 SJ1e Hfza |
8A/337 ( Turn Over )



(2)

(iv) Boolean  expressions can be
simplified using K-map.

K-map EIEEE] & Boolean

expressions AR IR 21 |
(b) Answer the following questions : 1x3=3
©oTq PR Ted fere
(i) Write the full form of ASCIIL.
ASCII T 7 ®ref for |
(i) Convert (15);, to binary number
system.

(15);0F taS &S FMET T4 |

(iij) Give the name of one operating
system.

Operating system 5[ =¥ &4 |

2. Answer the following questions : 2x4=8
o PP T oy
(a) State De Morgan’s law.
De Morgaﬁ? law TCER 941 |

(b) Draw a flowchart to find the area of a
triangle. The base and altitude of the
triangle is read from the keyboard.

@51 fqgem ¥ Sfemmes A flowchart =&
341 | f4g®s base ¥* altitude keyboard 3
74l read F91 | -

8A /337 . ( Continued )

(3)

(c) What do you mean by computer
network?

Computer network feie & g2
(d) What do you mean by video
conferencing?

Video conferencing feice & g 2

3. Answer any three questions : 5%x3=15
& creen fofAbt ene Te forer
(a) Write in brief the functions of operating
system.

Operating system 3 Ttw 530 ford |

(b) Define the following terms :
e e wive fore
(i) Browser
(i) Web page
(iii) Web server
() () Simplify the Boolean expression
AB +BC +BC.
AB +BC+BC 3 71539 341 |

{ii) Why is NAND gate used as a
universal gate?

NAND (5% universal gate 3517 &%
JRERF I =W?
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(4)

(d) Briefly discuss the advantages of using

Internet.

TORCH RARER 5 B |

(e) Distinguish between LAN and WAN.
LAN o1& WAN 3 12/ 347 |

4. Answer any three questions :

R e foME1 2re Taw for

(a) With one example each, state what
B! TrreaeR oS, & =@ TrEy <
(i) 1’s complement;
(i) 2’s complement;
(iij) signed magnitude.

Using 2’s complement

10x3=30

are

arithmetic,

compute, -90 - 80 in 8-bit. Interpret your

result.

2’s complement arithmetic (&, -90 - 80,

8-bit @ W7 [T F91 | T F 9

(b) Using K-map, simplify
fley 92=2(24,57)
K-map 92 F{ F_AFIT 41
flxy 2=%(2 4,57

( Continued )

(5)

(c) For the Boolean function

(d)

8A/337

(i

(i)

(iti)

()

(i)
(@

fxy 2=201267
Give truth table.
Write in sum of product form.

Draw circuit diagram to implement
it.

Draw circuit diagram ‘of the
simplified function.

Boolean function ¥ 913

flxy 2=2026,7)
Truth table ICRT |

Sum of product form e |

(iii) T ATHN FI9 circuit diagram S |

(iv) Function &1 &9 IR

()

(@)

circuit
diagram S |

Draw a flowchart to find factorial of
a number.

€31 YR factorial TmrE IR
flowchart S |

Draw a flowchart to find average of
n numbers.

n® A ¢ Tfems 19 flowchart
1 |
( Turn Qver )




(6)

e} Define the following
eTo franeaee ke fora
(i) Bootstrapping
(i) VOIP
(iij) Optical disks
(iv) Backup devices

* % &k

8A—1500/337 ' 3 (Sem-1) CSC



	Page 1
	Page 2
	Page 3
	Page 4

